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= 380,680
== 76,136
= 304,544
03 QI 2t EF A HI 761,360 495,500 265,860
OZdl0lE HMel XA 761,360
= 380,680
= 76,136
= 304,544
A2 SXAIE EXXNSAE 482,000 0 482,000
= 268,000
= 214,000
402 SI2F 20| & 482,000 0 482,000
= 268,000
= 214,000
02 CI2ZEXIE AL E X (0| & THS) 482,000 0 482,000
O 272 ASE SUXAIE EXASAS 482,000
= 268,000
= 214,000
MEHI =S EH 22 1,907,144 1,944,551 N 37,407
= 11,000
= 108,944
= 1,787,200
st MH 29 877,972 818, 168 59,804
201 et d| 561,730 526,670 35,060
01 AL 22l 133,732 144,672 10,940
SHEIES- 1] 133,162
—AIRA AIREE 2 100,000& 12& 1,200
— HI&FRH X 2l d] 400,000 x150= 60,000
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ool MEHIIE XFae (sl &2)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
—E2AUAN =8 10,600
Xl ot = 250, 0003 x4 4 A~ *4 3] 4,000
EHES 550,000& x12& 6,600
—CoIssA A =82 5,000
—IIRYEESE [IIESHE U =2
700,000& 523 36,400
— &I o™ &AL =2 800,000& »12& 9,600
— AYAIE HIIEAL =& 800
— R0FHESY =2 220,000& ~12& 2,640
—CCTV /I 2Y =2 100,000& = 12& 1,200
—A2ZAE HEELH HSZSBAL =2 250
— AN FHIIAA(18/3E) +22 1,862
—AAM LB FHAA LaB
50,000& =5CH 250
—A2ZAIE SHSEH 294l 220,000&3 x12& 2,640
— A2ZEAIE 2 FMAH 9| 60,000& x12& 720
(@RTE==x] 570
—&gs 70,000& *3H x23] 420
— OtM 3} 50,000& *3H 150
02 352494l 427,998 381,998 46,000
O2222 2 MA 156,000
—@iea 12,000,0002 * 122 144,000
—AANE HIWASS ABE
1,000,000& *12& 12,000
O Xt &l 3,200
— =&, XIAHX 2E€& 500,000& *3CH 1,500
—HAXNS BE2(1U) 700
—&E3> 08X BE€2010) 1,000
Ot HE (AAS, HEESE HA8s) LI
HZHI(SR) 870) *x24 *8Al2++100L 1,392
OL2ZANE S22 L 29 A= H|
4,000,000& 43| 16,000
Ot e dE xH2HI(5E/ 600) 83,406
OAI& &Hl K X Hl| 168,000
—SH2LHEH SN2 (BH) 100,000
A2EAIE 50,000
O Al A 10,000, 0003 *24! 20,000
MEE2E dEAIE 10,000, 000& *x34! 30,000
—HE 22 HAH(13]) 9,500
— g8l 7 7,200
R EI 850,000& *3JH x23] 5,100
K EFY 350, 000& 34 x23| 2,100
—ANSHUHLEES BIgF)| ¥UE¥H & A
2E WA 2,300,000& *1CH *43] 9,200
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-2 JIEEX, 3 2 1,100
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—Hs< NE82AN A 6,000
203 R F & 1,500 1,500 0
03 AIZH =X 2= X H| 1,500 1,500 0
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206 M = dl 147,158 153,558 AN6,400
01 X2 4| 147,158 153,558 6,400
OEANE 29 2N 7
3,200,000 ~12& 38,400
OF&E4 Hel&H 29 A4E(3E) 5,000
OAZANYE 29 AUZH|(HMAAAZQ 6F)
6,000,000& x12& 72,000
Ogts ek EH| 40,000& x15=2x12& 7,200
oY Azl 1,658
— g 1,540 2004 308
38 s 1,350 *1,000¢ 1,350
OMEAE 2FHH 22U
4 0003 x4kg =300 4,800
OHIAMM(KNAEHIIZS) B22D 22 (0.58H)
8,000& x4 & %300 9,600
O&EEZs22UH &M E2 Mz 7Y 8,500
—HE(X2==2) 550,000 =104 5,500
—BRANIZ(HLEESE) 30,000& 1002 3,000
301 et X = 64,584 60, 840 3,744
12 JIEtE A2 64,584 60, 840 3,744
Ot el dEy &&H 2HAl
69,0003 x3H x26 x12& 64,584
401 A HI L 2Ol 83,000 40,000 43,000
01 Al&H| 83,000 40,000 43,000
Oa2ANE 222 UHstE B4 21,000
OAM2ZANE HEE2LH =210
400,000 110K 44,000
OAL2ZAS Wy ZY DM (HOIK EEH) 18,000
405 XH&HF S HI 20,000 3,600 16,400
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101 14l 225,265 191,600 33,665
04 JI2ZtHZ22HEE =+ 225,265 191,600 33,665
OsZeed 225,265
— o= 68,7203 x8H »350 192,416
— Jtit= 68,7203 x8&H x 152 x150% 12,370
— 40 2= 204,786,000 «10% 20,479
201 Let24E] 274,110 265,710 8,400
01 ArR2t2ltl 37,830 27,430 10,400
Oget=8Hl 31,200
—=285J HII= A8 HMi===2
200,000& »50= 10,000
—MEMY D Z2el=HT 200,000& =404 8,000
—HEgZs =HE 200,000 =154 3,000
—NHEESE 2c+=H8 28 0l & a2
s 7 500& 6,000 3,000
—SHEH dEMYD = EHE
150, 000 & * 123 *40H A 7,200
O=&tl 1,680
— =SS X0 =H ¥ &5 A
8,000& »4H x40 1,280
—EAXS M) Y THEES =HFE
8,000& x1H x50 400
Oogxz 4,950
— =S85 HII=E =H =40 S
550,000& 3 1,650
—MBMYII2ESE MEAY ZHl X
550,000& 3 1,650
—ANESE HEE At=2e ZHl X
550,000& 3 1,650
02 =224l 236,280 238,280 A 2,000
03223 S(EAX13, SAE2, HEES2) 15,280
— X ZIEA =8 40,0003 «170CH 680
—xg BE= 800,000& »17CH 13,600
—HaXYg MR S8 HE(1U) 1,000
Oxtg Azt 221,000
—HAXY 13,000,000 «13CH 169,000
— 3842 A 13,000,000 *2CH 26,000
—MHEEZF =HIE 13,000,000 *2CH 26,000
202 Oddl 1,800 1,800 0
01 = LH 4 Hi 1,800 1,800 0
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206 M= Hl 167,678 97,668 70,010
01 =8l 167,678 97,668 70,010
OXIISEN #ASE ME 157,683
—2tE 91,930
- 54 31&20,0000H 620
- 104 38&*70,0000H 2,660
- 204 573 %250, 0000H 14,250
- 504 1243 +600, 0000H 74,400
—338 7,853
- 204 57&*29,0000H 1,653
- 504 1243 x50, 0000H 6,200
—HAMEBEE 57,900
- 104 413 +450,0000H 18,450
- 204 58& *450,0000H 26,100
- 304 89& %150, 0000H 13,350
OsSAESMY Il =AHEIl & 40,000 2004 8,000
O2a2MY D 2elthis €28 M
57@ %35,0004 1,995
TRt S ECHSD| 130,575 112,405 18,170
101 144 Hl 15,271 14,157 1,114
04 JIZHHZ2XREE S 15,271 14,157 1,114
QALY HAXZ(HHM, &ASEH, 2202
AL S) 68,7203 x 10«12 8,247
OdaMyII2s2, SZaedyg gz =l
J| 68,7203 x5 20 6,872
OtTHERE Z 15,119, 000& * 1% 152
201 2yt 2 Y| 76,704 41,648 35,056
01 At 22l 69,504 37,448 32,056
Oget=&H| 58,304
—IEHEZ22s §AEE ¥ 2,000
—StEY 228E P (AHEA, BELAESES)
20,0003 2000 2 =128 4,800
— MY Il 22 tHE EEE MZE
200& x20,0000H 4,000
—ANESSWHE X Kot JAHE =ZZA
138,000& * 14K 2 %43 7,728
—MgJ EYED =5 308 M
100,000& *50H 5,000
— Mg EHEI A =2 M
30,0002 504 1,500
— MY Ol SYHEI] ZAIIHHI2H(CCTY) BlE =
= 42,5003 x22CH x 128 11,220
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dM: NS ZES
Ce: MEmis HEate (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
—ANESSUHEX ArZ=2e| ELdHM==T
919,000& *24H 2~ 22,056
O#M BAXHEX =4 8,000&10H 154 1,200
OHs% +3Hel 82 849 W
50,000& 204 1,000
OHse 9le Hel++2 7,000
Oo301® =) 24 S&EX 2 2,000
02 2324l 7,200 4,200 3,000
OSYSIl 2ZAIt0et(CCTV) | X el 1,200
—dIRe3 100,000& = 12& 1,200
Oz=sdd RA E= 3,000
OMdIl 28 SIIXS CCTV 014 (5 A) 3,000
202 o4dl 1,200 1,200 0
01 = LH o4 1l 1,200 1,200 0
OMBHALS YIs B4 S
60,0003 x2H 10 1,200
206 M= Hl 14,000 14,000 0
01 M= 4l 14,000 14,000 0
OgMsz HER 2 7Y
350% 10,0002 *43] 14,000
301 LEMZ 23,400 35,400 A 12,000
09 HALAHIX A S 3,400 3,400 0
O3HE FUSI 2SN USAL =4 3,400
-5 ¢ 200,000& «12/=1104 & - & 2,200
- & 300,000& *43| 1,200
12 JIEE4 3 20,000 32,000 A 12,000
O2sHII2 =% ZAS(HHYE, sYblEs,
Hs2x=X) 20,000
HHY =) 243 110,000 92,200 17,800
= 11,000
< 11,000
i 88,000
301 LEAS 110,000 92,200 17,800
= 11,000
< 11,000
e 88,000
12 JIEE43 110,000 92,200 17,800
OHHIE =HEAZ XN2(1,100€) 110,000
= 11,000
< 11,000
s 88,000
SsdGY &35 & 20,000 20,000 0
401 AIEHI L 201 20,000 20,000 0
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SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
01 A& HI 20,000 20,000 0
OY=sHtH Y =s&otE 4X
5,000,000& x4 A~ 20,000
HIOIZX™MEZAIE &X 1,800 60,000 A 58,200
202 04| 1,800 0 1,800
01 2L Y] 1,800 0 1,800
OHIISHMeIAE(A2LZAE) S&X Ast
60,000& x5 x6 A 1,800
HIIEXHNEFEE2 8+ E2 AIY 97,944 0 97,944
& 97,944
401 Al HIL 200 12,944 0 12,944
= 12,944
01 Al &bl 12,944 0 12,944
OL2AAE HEHEH S LA 12,944
T 12,944
405 XHo&HF SHI 85,000 0 85,000
& 85,000
01 JHAY = ZF S H 85,000 0 85,000
OMEESE +HNE FA(BE &=)(1U) 85,000
= 85,000
HESAAL (S AISHHY) 189, 102 0 189, 102
ol 2 AHY| 101,964 0 101,964
ol 4| 101,964 0 101,964
101 2121 4| 101,964 0 101,964
01 2 97,087 0 97,087
OAlZ2te 2244 HH2(19¥) 23,937
— 62 11,6343 *7H +10Al 2t x 128 9,773
73 10,509& x7H x10Al 2tx 12 8,828
— 82 9,434 x2H x10A| 2t x12& 2,265
- 92 8,528 *3H *10A| 2+ 128 3,071
Oxh224 10,0263 *19H *32A] 2tx 12 73,150
02 JIEt®& 2% 4,877 0 4,877
OFIAAZE (154 0| &~23H0|8H) 4,877
— Ao Rasy Houz
9,675 x 1Y «10A| 2+ 128 1,161
— X222 9,675 *1H +32A| 2tx12& 3,716
Jl2& bl 87,138 0 87,138
&l 87,138 0 87,138
201 LEr2 Y| 47,798 0 47,798
01 AFR2t2l bl 42,798 0 42,798
Ogbts2d SHA A 22,188
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